7. Conflicting and Common Aims among Stakeholders
1. Fill in the gaps
The stakeholders in any business can be said to share an interest in the organisation’s success. Businesses provide jobs, orders and products directly and indirectly. Yet it is naïve to think that every _________________________ has the same view of that common interest. Staff may be happy to see the business ‘doing well’, but still be angry if the bosses are getting huge bonuses and the shareholders being paid fat ________________________.  Most obvious of all is that a business should look after its customers. Yet both British Airways and Virgin Atlantic have been caught ___________________ fixing, i.e. conspiring together against the interests of their customers.
Choose words from: image, salaries, price, dividends, stakeholder 
2. Write in the box below at least one internal and one external stakeholder per factor
Internal stakeholders: workers, managers, directors, shareholders 

External stakeholders: suppliers, customers, local residents, the government

	Factors affecting stakeholders
	Internal stakeholders
	External stakeholders

	2.1 Poor sales in a recession forces Harrods to cut its opening hours 
	
	

	2.2 A TV programme about child labour in India hits sales hard at a well-known clothes shop
	
	

	2.3 A switch to a cheaper raw materials causes serious pollution problems at a factory
	
	

	2.4 A producer of chemicals switches location from Plymouth (GB) to Porto (Portugal) 
	
	


3.  Explain Why:
3.1 Some firms offer discounts to encourage workers and managers to buy shares in the company they work for.
______________________________________________________________________________________ 

______________________________________________________________________________________

3.2 Some people say that the interests of stakeholders conflict in the short-term but are common in the long term.

______________________________________________________________________________________ 

______________________________________________________________________________________

3.3 The boss of a small firm may find it easier to keep all the stakeholders happy than the boss of a big plc. 
______________________________________________________________________________________ 
______________________________________________________________________________________

3.4 A trade union might advise its members to accept a pay cut, as Honda’s UK workforce did in the 2009 recession.  

______________________________________________________________________________________ 

______________________________________________________________________________________

4. True or False?

4.1 Unlike ordinary companies, the stakeholders in a football club always have shared aims.

4.2 Boosting productivity is a conflicting aim between directors and workers, especially when demand is flat.

4.3 The company profit is the most important factor for all stakeholders.  
7. MARK SCHEME – Conflicting and Common Aims among Stakeholders
1. stakeholder … dividends … price

2.

	Factors affecting stakeholders
	Internal stakeholders
	External stakeholders

	2.1 Poor sales in a recession forces Harrods to cut its opening hours 
	Workers (pay)
	Customers

Local residents

	2.2 A TV programme about child labour in India damages sales at a well-known clothes shop
	Workers
Shareholders
	Customers
Suppliers

	2.3 A switch to a cheaper raw material causes serious pollution problems at a factory
	Workers (health)
Managers (health)
	Local residents
Government

	2.4 A producer of chemicals switches location from Plymouth (GB) to Porto (Portugal) 
	Workers (jobs)
Managers (jobs)
	Suppliers

Government (tax)


3.1 Together they would be far more likely to overcome the political pressure behind the ’anti-foreign’ regulations

3.2 They may prefer Asda and Tesco to compete, so that – when allowed to open up in India – prices are kept competitively low

3.3 Probably yes, it would be helpful in some ways – such as a common recycling scheme across all the outlets of both chains; but the risk –again – is that the cooperation extends to price-fixing.

3.4 It will do this only if it feels that other stakeholders are sharing the pain (in the case of Honda, the workers accepted a 3% pay cut when the management agreed to a 5% cut)
4.1 False. Players may choose wages over ‘success’.
4.2 True. Higher productivity means fewer jobs when demand is flat.
4.3 False. Workers and customers are unlikely to see it that way.
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